AL BT #2408 i g A 1 RS R T

i H T

S )

i &y (/NB) . 416, 350. 78

(K5) . BT HEBTEAERSETERTYD _
% 1‘3—1 )\; m‘ 4 i, e ‘ L%_m@-]ﬁ])\’ { {

‘3 Cafrsegs) ©U0 S (P P )
EEREAN );sz EEAEAN é&ég
CES Y PN a1 | B AN \

E e ) (&)

& ) g 7 A %Z

GENAREFeEAE) GEM LRIy L )

gw i B[]

B & K -

A2



A TRE P S 3R

TREAARR: AT EL P ER A R R R T T B NEE 1o k1
FF LB EE & (On) Hrbe il Oo)
1 AT 320320. 39
1.1 SCUEIE 152319. 39
1.2 PRk i 43 34834. 78
1.3 jEidnas 129714. 18
1.4 IKFE 3452. 04
2 i) renn 55949. 94
2.1 SN I oY T =1 L7 55949. 94
2.2 HAh Tt o
3 HoAthzii § 5702. 86 —
3.1 EP IR
3.2 A
3.3 HHT 600. 00
3.4 SV N
3.5 TR AT % 5102. 86
3.6 TR o
3.7 NS 38 72
3.8 R H
3.9 WIAZAIED
3.10  |[HAhFEA
4 BRI CRRIE M 381973. 19
5 S B TR 343717. 59 —
6 pSSELil 416350. 78
7 NT% 162098. 15
THEAN G 1T=1+2+345 416, 350. 78 0. 00
VE: ARIE T A TARRRR R I BRI (I, TR TRERI Sy, S TR th e FH AR 20

F—04




g BB 3 W TORE AN B £ it 00 H IE LS TR

TAESFR: AL B ) S s g v i XS T3 H FrE: 1w L2 m
&H (T
e | SRS | E K S E A Rl oes || o
CEERM | SEEN
LR Ty
pgiars
1. BEAARKRTY LRl AR RS
2. REEE. WKL AL: 15mm
1 (011201001002 |4 —eHk 1:2. 57K JERbHEK m2 | 2060. 14 39. 08| 80510. 27
3. HEEE., WAL : 5mm
1:2. 87KJRHbH
1. FE 2R B
2 011406003002 |3 EIRT- 2. AR ik Y m2 | 2060. 14 18. 58| 38277. 40
3. R T : 236
1.%{%‘%@:%¢ﬂﬁbﬁ7gﬁi ‘
3 011406001002 |H i gﬁf@@””ﬂ" WIBBECIEIE | o | 1556.75|  14. 69| 22868. 66
3. BRAL: ARSI
1.95'—5):% Y z%ﬂﬁ?kxﬁ .
4 011406001006 | H Kz %j%g ﬁf‘”ﬂ] TSR E KO | o 367.4]  14.67| 5389.76
3. BN : A% T B2+ 2
5 1011407001001 |BETHIMTRIGREL | 1. BERTA 56w m2 340 14. 69| 4994. 60
1. FE 2 [ F’%&H 1]
6 [011406003005 &I T 2. ST R i /K 2R m2 15 18.58]  278.70
3. T : 238
RS 152319. 39
PebR s =057
‘ L. HUCEAARSRRR AR =
7 1011607001001 [FUMEEAESRES |ZLAN m2 557 62. 54| 34834.78
2. JEIHME5km
SEULN
gﬁ%)ﬁn% 34834. 78
jearar s
1. BEAARKRTY  fLRl AR RS
2. REEE., WA & 15mm
8 (011201001004 [Kemm—MmeEER | 1:2. 57J</Jré6//§fz m2 1847.2 39. 08| 72188. 58
EEJ_TL WhIE A B : Smm
2 2. 87J(/}ZEIAE//7K
1. FE 20 B
9 011406003004 |35 &I F 2. Fl A iR K A m2 1847. 2 18. 58| 34320. 98
3. R T : 236
PNpiVINT 293663. 73
VE: ONTFBORR SRR, ArERPEEH A . “CEHmMALR .

#=—08




G395 T T AL B4 B T 3 5

TREAFRR: A4 B PHETE E v B il XS0 H FrB: Fo2ow J2m
& (I8
= T H 4R il Sr T 4./ #‘* ﬁ“% (mE=N ﬁ\:':':'
Fe T H 4w i3 4485 S ERT AR B | TR
L2 O | AW
=] 1 == iﬁffﬁfﬁl\
=]
1. fg%%i@ %%t’[ﬁﬁdjgﬁﬁi o
10 |011406001007 {4 Ty ggﬁfﬂﬂf*‘””ﬂ’ ARG SRR | o | 1255, 68 14. 69| 18445.94
3. HBA : AR
1.%&%@:4 TR .
11 |011406001008 | iy %j%éﬁ'?”* TTASEA: KO | 323.94 14.69| 4758.68
3. TS : 475 T Sl 2+ 2
HEEAT 129714. 18
7KFd
LR RR A HUA% . SRS R
12 (010401007001 |71 ﬁ% STp— m3 2.16|  490.85| 1060. 24
3. WPIREREF SRS . Ml A LL:MT. 5
13 (050101010001 |B&FR4EAL ML |1. 7FR L m2 100 4.91]  491.00
14 1050403003001 ﬁﬂ}%&ﬁwwﬁ%l Sl V% B e B YY) m2 120 15. 84| 1900. 80
Kr &t 3452. 04
AN TR 320320. 39
S|
1. 44FK: 2t s HE T 20
15 |50 17010090 ey F o |27 #5irs : 1om m2 | 2060.14 8. 66| 17840.81
3. FBVERAr: SCIEES
1. Z4FK: 251 HHE T 22
16 50117010090 PHRNIA TR (2. %ﬁ&@rg o m2 | 1847.2 8. 66| 15996. 75
3. BT R
AN AT 33837. 56
RIUNT 60494. 22
& it 354157. 95
VE: ONTFBORR SRR, ArERPEEH A . “CEHmMALR .

#=—08




TREAAR: A BT

BTSRRI H S S T R

TE R AR T I A

brBL:

Sepse

o 1

Feis | BUH 45

T H 445K

TR

SR ik
(JT) (%)

UE-IE]
A ()

1 |LSSGCSF00001

452 0} T e e
i 1 P

)

N
=
\H
S
S
S5

ot

+

2

M
/)

AT
ST

BWH'
%u

13

22112. 38

L4355
ALY

2 |WMGDZJF00001

SCHA I 0 2

SN
IJTIZLI«
$
S,
s
=l

#4537

M
/)

\ﬁﬁﬁl

BWH'
2

3 (011707002001

T I it T3 i 2

20

LA 8] it T
WH AT
[1120%11-54

4 |GGCSF0000001

L Tt %

5 [QTFY00000001

HAb 3

R RHAET
LI 20
4\77%1‘[’ﬁ

op

it

22112. 38

FwEIN GEM AR -

BN GEWN TR -




TREHTR:

HARIUH IS # 5l e 3£

A=A EL P TE iR A 10 AT T H

PRBL:

g1 50 k1t

FPs

T H 445K

BA (T

g o)

ik

1

PR

WIAE LR -12-1

2

At

2.1

FORFEAG Y

WIATE LR -12-2

2.2

b TRERAS

WIAE LK -12-3

itHI

600. 00

WATE LR -12-4

KBRS B

WIAE LK -12-5

A AT

5102. 86

TREML R 3%

LS S 2

WAL H

O |0 | ||| | w

ZRIEP

HAth sz

I
=]

it

5702. 86

e MR (RS B3t s Il H

ey

By, SRR R

*—12




THHIE

TREARR: A B P R iR JE 1 AT T H PRER: RN
G T H 445 wir | maesm | osge | FEEH o
B i b
1 AT
1.1 |JEEIAE TH 3 200. 00 600. 00
ATt 600. 00
2 |k
2.1
RN
3 |MTAHLA
3.1
it TATLE N

4. AV B SR AN

& W 600. 00
VE: SERDUH ARR, 2 Hem i bn NS, gl bRz sl o, Spr i As NG R e sisE ;. SOy, S idiebs N8 2
WA, HEEHEE SN ABAR SN . G5, R ORI SEPR R A

F—12—4



M Bl HiE R 5 &

TSR GBS B R A ST biEL: R R
e 35 F A4 R e masy | R ewmoe
1| BB AR S 381973. 19 9 34377, 59

op

it 34377. 59

i
i
>~
fﬁ
=
~
haiif

RN Gt TR -

#x—13




HAL TRE AP 3R

TREAARR: AR P ER A Bk R R T T B 1o k2
S| LR BN | M > o C I
1 ]0001001 ZETH TH 16. 71 96. 19 1607. 33
2 (00010010 |AT# st | 10019071 1.00|  160490. 71
3 103134011  |/KEb4E ik 156. 88 1.15 180. 41
4 [os010015  [ETEPREEREVEP. C) -y 21.8249 283. 21 6181. 03
5 104010045 |HEERREEKIE32. 5 t 9.61 601. 77 5783.01
6 04030015  |hib m3 107. 0261 136. 03 14558. 76
7 104090015  |HEfK t 9.4713 310. 92 2944. 82
8 |1237001 R m3 16. 71 5.05 84. 39
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1 ?mmmmoﬁﬁ#$%m m%@% m2 2060. 14 39. 08| 80510. 27
3. EEEE&“\ WIEBL A b 5mm 1:2. 8
IKVERbIK

1> FEHEL = 7.6%5. 34+7. 6%6+0. 5%7. 6+0. 2%7. 6+4. 44%10. 76+9. T*10. 76+1. 57*6. 7T+10. 76%9. 78+3. 4%3. 7+3
. 3k1. 75=377. 7572

<2> 2 = 7.85%8. 1+10. 76%9. 78+11. 22*%10. 76+4. 6%1. 7+0. 9*1. 67*2+1. 6%0. 8+3*0. 5=303. 151
3>

w
Il

11. 6%8. 7+7. 6%1. 9+7. 3*3. 8+6*1. 3+1. 3%4+33. 6% 1. 9+22%2*6. 6+1. 2%x14=527. 14

<4> 4 = 47.6%2. 9+25%3+1. 2%4+5. 6%2. 2+2. 2%2. 5+2. 6%2+17*1. 2+3. 65%2. 6+4*3. 7+4. 3*3. 65+2%3. 15+13. 4
5+8. 9+8. 9+6. 1+23*1. 5+3. 1*1. 1=382. 805

<6>

2. 25%3. 65%2+3. 4%3. 2+6. 6%3. 3— (1. 2%2. 2) =46. 445
<>

<B5> APl = 2.1%8.1-(3. 1%1. 15)=13. 445

2

3 = 54+3. 14%13. 48+6. 67%2. 6+5. 78%3. 6- (1. 3%1. 4+0. 9%1. 7%3) =94. 0672
8> 4
<9> Z4p/Mt = F4+F5+F6+F7=181. 2772

<10> HERE1 = 22. 75%1. 5+39. 2%2. 8+2. 4%8. 5=164. 285

5. 2%2. 55+5. 7*3- (0. 8%1. 9%2) =27. 32

11> 2 = 1.25%19. 3+47. 6%2. 2=40. 845
12> 3

5. 7%3=17.1
<13> 4

2. 1%2+6. 4%2, 4+1. 4%, T*2+7. T*2+10. 4%2. 3=63. 64

14> 5 = 4.6%2, 2+6. 8%4, T+7#3, 17+1. 9k10+14. 8%2, 5+3. T*2+17. 6%2+13. 45%2. 1+10. 15%2. 2+21%2. 3+8. 5%
1. 75%2+3%2+1. 15%2. 9%2+3. 2%1. 5+0. 8%1. 8- (0. 8*1. 8%2+4%2, 5)=297. 525

<15> HHE/ME = F11+F12+F13+F14+F15=583. 395

<16> FJF51 = 13.3%5. 66+0. 5%10. 65+6. 56%8. 18%2— (1. 17*1. 7%4+0. 75%1. 6)=178. 7686

A7 2

16. 5%4+6. 2x4. 26%2+13. 7*3. 55=167. 459

18> 3 = 4%6. 4+6. 4%2. 68+7. 35%4. 1+1. 1%4+8. 32%7. 1+5. 3*7. 1- (2. 1%2. 49+0. 8%2+0. 8%1. 2%4+1. 9%0. 9+0
8x1. 4%3)=158. 25

<19> 4

13. 57, 4+5. 177, 4+5. 17*1. 4- (2. 5%3. 2+2. 38%2. 25+1. 15%1. 75%5)=121. 9785

<20> 5 = 10. 1*6. 7+3. 4%6. T+3. Tx6. 7+2. 3% (3. 1+3. 4) +8. 6%1. 3+1. 55%0+7. 2%6. T+8. 2%6. T+2%3. 34+2%1. 5%
1. 19+1. 95%2. 6+1. 3%5. 4— (1. 25%2. 1*%2+0. 8%1. 3%8) =267. 27

<21> 6 = 12.2%6. 5%2+9. 26%6. 5%2+3. 5%2. 1+(3. 4+11. 3)*0. 6- (0. 85%1. 55%14) =276. 705

22> 7 = T.4%9+4%2, 9+7. 6%1. 9+4. 4%8. 4- (0. 95%1. 6%3) =125. 04

23> FE/MI = F18+F19+F20+F21+F22+F23+F24=1295. 4711

24> #EBE5 R (GCLMXH]) = 13.4450+46. 4450+94. 0672+27. 3200+164. 2850+40. 8450+17. 1000+63. 6400+297
. 5250+178. 7686+167. 4590+
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158. 2500+121. 9785+267. 2700+276. 7050+125. 0400=2060. 1433
1. SR S
g 91140600300 | sce it - 2. B PRI i m2 | 2060.14]  18.58| 38277.40
3. Tl T AL 236
<1> TfEE = 2060. 14=2060. 14
01140600100 " L BRI A KT
31y DRI |2 Jhi i pldom AL i 23 m2 | 1556.75 14. 69| 22868. 66
3. HAL: AT
1> FEHEL = 7.6%5. 34+7. 6%6+0. 5%7. 6+0. 2%7. 6+4. 44%10. 76+9. T*10. 76+1. 57%6. T+10. 76%9. 78+3. 4%3. T+3

. 3*1. 75=377. 7572

<2> 2 = 7.85%8. 1+10. 76%9. 78+11. 22%10. 76+4. 6%1. 7+0. 9%1. 67%2+1. 6%0. 8+3%0. 5=303. 151
<3> 3 = 11.6%8. T+7. 6%1. 9+7. 3%3. 8+6%1. 3+1. 3%4+33. 6%1. 9+22%2%6. 6+1. 2%14=527. 14

4> 4 = A7.6%2. 9+25%3+1. 2%4+5, 6%2, 242, 2%2, 5+2, 6%2+17%1. 2+3. 65%2. 6+4%3. T+4. 33, 65+2%3. 15+13. 4
5+8. 9+8. 9+6. 1+23%1. 5+3. 1*1. 1=382. 805

<5> B3l = 2.1%8. 1-(3. 1%1. 15) =13. 445

<B> 2 = 2.25%3. 65%2+3. 4%3. 2+6. 6%3. 3— (1. 2%2. 2) =46. 445

<T> 3 = 5%4+3. 14%13. 48+6. 67%2. 6+5. 78%3. 6— (1. 3%1. 4+0. 9%1. 7%3) =94. 0672

<8> 4 = 5.2%2.55+5. T#3- (0. 8x1. 9%2) =27. 32

<9> Z455/MT = F4+F5+F6+F7=181. 2772

<10> FEJ71 = 13. 3%5. 66+0. 5%10. 65+6. 56%8. 18%2— (1. 17*1. T*4+0. 75%1. 6)=178. 7686

11> 2 = 16. 5%4+6. 2%4. 26%2+13. T%3. 55=167. 459

<12> 3 = 4%6. 4+6. 4%2. 68+7. 35%4. 1+1. 1%4+8. 32%7. 1+5. 3%7. 1- (2. 1%2. 49+0. 8%2+0. 8*1. 2%4+1. 9%0. 9+0
8%1. 4%3)=158. 25

13> 4 = 13.5%7. 4+5. 17%7. 4+5. 17%1. 4—(2. 5%3. 2+2. 38%2. 25+1. 15%1. 75%5)=121. 9785

(14> 5 = 10. 1%6. 7+3. 4%6. 7T+3. T%6. 7+2. 3% (3. 1+3. 4) +8. 6%1. 3+1. 55%9+7. 2%6. T+8. 2%6. 7T+2%3. 34+2%1. 5%
1. 19+1. 95%2. 6+1. 3%5. 4— (1. 25%2. 1*%2+0. 8%1. 3%8)=267. 27

<15> 6 = 12.2%6. 5%2+9. 26%6. 5%2+3. 5%2. 1+(3. 4+11. 3) *0. 6- (0. 85%1. 55%14)=276. 705

16> 7 = 7.4%9+4%2. 9+7. 6%1. 9+4. 4%8. 4— (0. 95%1. 6%3)=125. 04

A7> FEFH/T = F18+F19+F20+F21+F22+F23+F24=1295. 4711
<18> #&hn = 80=80

19> gEBE5H (GCLMXH]) = 13. 4450+46. 4450+94. 0672+27. 3200+178. 7686+167. 4590+158. 2500+121. 9785+
267.2700+276. 7050+125. 0400+80=1556. 7483

01140600100 . L BRI i P KT o
6 PRI |2, A IR K (IR0 | m2 367. 4 14.67| 5389.76
3. FlOL: AR T M A+

<> FEHL = (7.6+7.6+0. 5+0. 2+4. 44+9. T+1. 57+10. 76+3. 4+3. 3+7. 85+10. 76+11. 22+4. 6) *0. 8=66. 8
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2> 2
<3>3
4> & = (2,142, 25+3. 4+6. 6+5+3. 14+6. 67+5. 78+5. 2+5. 7) *0. 8=36. 672
<5> L
<6> [l
<T> FB+EE/NT = FI1+F15+F4=172. 772

<8> FJF1 = (13.3+6. 56%2+16. 5+6. 2+13. T+4+6. 4+7. 35+8. 32+5. 3+13. 5+5. 17) *0. 8=90. 288

(11.6+7. 6+7. 3+6+1. 3+33. 6+22%2+1. 2) *0. 8=90. 08

(47.6+25+1. 2+5. 6+2. 2+2. 6+17+3. 65+4+4. 3+2+13. 45+8. 9+8. 9+6. 1+23+3. 1) *0. 5=89. 3

(22.75+39. 2+8. 5+19. 3+7. 6+5. T+2. 1+6. 4+1. 4%2+7. 7+10. 4) *0. 5=66. 225

(4. 6+6. 8+7+10+14. 8+3. 7T+17. 6+13. 45+10. 15+21+8. 5%+3+1. 15+3. 2+0. 8) *0. 5=69. 875

<9> 2 = (12.2%2+9. 26%2+3. 5+ (3. 4+11. 3)) *0. 8=48. 896

<10> 7 = (10. 1+3. 4+3. 7+3. 1+3. 4+1. 55+7. 2+8. 2+2+1. 95+1. 3+7. 4+4+7. 6+4. 4) *0. 8=55. 44
11> EJ/ME = F18+F23+0+F24=194. 624

12> Z5EE5 R (GCLMXH]) = 36. 6720+66. 2250+69. 8750+90. 2880+48. 8960+55. 4400=367. 396

01140700100 \sgpmefpligort | 1. BEATA HTIMEE m2 340 14.69) 4994.60

<1> = 100+30+30+20+40+120=340
2> HEEEER (GCLMXH]) = 340. 0000=340

L. RIS 71 s F A T
21140600300 ) e 2. RN i jﬁiﬁg m2 15 18.58  278.70
3. IR 236

1> LREE = 15=15

IRBR 3 R 7Y

Twmmmomm%wﬁ% é%ﬁ%wﬁ§E$Mfk# S 557 62. 54| 34834.78

1> = 10%12+24%10+16%12+5=557
2> GEELER (GCLMXH]) = 557. 0000=557

feaarais

R AL R M

01120100100 |, 2. JRJEERE . WAL AL 15mm 1:2.5
4 wif AR KUERD K m2 1847. 2 39.08| 72188.58
3. MEEE. WA : 5om 1:2. 8
IKUPEHP IR

1> FEHK2-88 = 4%2. 9+6. 1%6. 26+6. 1%2. 7+5. 6%3. 6=86. 416
(2> 2-8T7 = 2.3%4+2%2. 3+2. 2%2. 9+1. 9*2. 7+7. 15%11. 25+10. 2%7. 15+13%3. 8+13%1. 85+2. 2%2. 5+11. 25%0. 9
5+5%0. 95%2=277. 815

<3> 2-89 = 5. 9*7.4+7. 6%7. 4+1. 6%3=104. 7

<4> 2-91 = 3%2.55%2+2. 6%2. 1+1%3. 3%0. 9%20. 6+2*%2+9*%6. 8+6. 6x7+7. 8%9. 35=266. 272

<5> 2-6 = (3.65+2.6)%3. 75+2+3. 45%3. 4+1. 95%3. 7+ (2. 8+1. 67) *2. 9+ (1. 95+3. 2) *2. 7+5. 07*1. 4+15. 5%0
9+25. 7%0. 9+3. 3%3. 5+3. 5%0. 9+3%1. 1+5. 3% 1. 1+8. 4%6. 8+10%6. 85+8. 6%2. 9+12. 5%6. 9+12. 6%3. 1=415. 1285

<6> 16-1 = 5. 1k4+6%3. 4+1. 8%2. 1+2. 1*1. 6+ (4. 6+5. 8) *4. 5+1+3. 56%2. 7=105. 352
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TREAFR: A BRI i A SR T i H 4 3k e
| BE S T H 44K T H AR AL | TREECE | ZREE | B
<7> 2-90 = 6%3.4+5. 5%3. 3+6. 35%2. T-1. 6%1. 9+6. 35%2. 6=69. 165

(8> = 8.2%6.8+3. 2%2. 4+4*%3=75. 44

<9> 2-3 = 6.5%3. 9+2. 7*0. 6+6. 9*2. 9=46. 98

<10> 2-2 = 2. 2%3+6. 6%2+1. 4%2. 3+4. 2*3. 8=38. 98
<11> 1-5

1. 6%3. 2+10. 2%2. T+6. 83, 3=55. 1
<12> 3-3 = Bk, 7+2. 1%2. 5+10. 2%3. 2+1. 8%2, 2+4. T%3. 8=68. 21
<13> JBITBEKAKRHE = 40%2. 45=98

14> FEFEREAETRX B = 29. 5%3+4. 35%2=97. 2

<15> 10-3 = 5.05%3. 2+3. 2%2. 9+8. 5%2=42. 44

<16> 2L (GCLMXH]) = 86.4160+277. 8150+104. 7000+266. 2720+415. 1285+105. 3520+69. 1650+75. 4400
+46. 9800+38. 9800+55. 1000+68. 2100+98. 0000+97. 2000+42. 4400=1847. 1985

01140600300 |, L B JZIAL: S I
9 |4 ERT 2. BT ApE i 7K m2 1847. 2 18. 58| 34320. 98
3. HIR AL : 208
> BIFEE2-88 = 4%2. 9+6. 1%6. 26+6. 1%2. T+5. 6%3. 6=86. 416
<2> 2-87 = 2.3%4+2%2. 3+2. 2%2. 9+1. 9%2. 7T+7. 15%11. 25+10. 2%7. 15+13%3. 8+13%1. 85+2. 2%2. 5+11. 25%0. 9
5+5%0. 95%2=277. 815
<3> 2-89 = 5.9%7.4+7. 6%7. 4+1. 6%3=104. 7
4> 2-91 = 3%2. 55%2+2. 6%2. 1+1%3. 3%0. 9%20. 6+2%2+9%6. 8+6. 6%7+7. 8%9. 35=266. 272
<5> 2-6 = (3.65+2. 6)%3. T5+2+3. 45%3. 4+1. 95%3. 7+ (2. 8+1. 67) *2. 9+ (1. 95+3. 2) 2. 7+5. 07*1. 4+15. 5%0
9+25. 7%0. 9+3. 3%3. 5+3. 5%0. 9+3%1. 1+5. 3%1. 1+8. 4%6. 8+10%6. 85+8. 6%2. 9+12. 5%6. 9+12. 6%3. 1=415. 1285
<6> 16-1 = 5. 1k4+6%3. 4+1. 8%2. 1+2. 1*1. 6+ (4. 6+5. 8) *4. 5+1+3. 56%2. 7=105. 352
<T> 2-90 = 6%3. 4+5. 5%3. 3+6. 35%2. 7-1. 6%1. 9+6. 35%2. 6=69. 165
<8> = 8.2%6.8+3.2%2. 4+4%3=75. 44
<9> 2-3 = 6.5%3.9+2. 7%0. 6+6. 9%2. 9=46. 98
<10> 2-2 = 2.2%3+6. 6%2+1. 4%2. 3+4. 2%3. 8=38. 98
<11> 1-5 = 1.6%3.2+10. 2%2. 7+6. 8%3. 3=55. 1
<12> 3-3 = 5x1. 7+2. 1%2. 5+10. 2%3. 2+1. 8%2. 2+4. 7%3. 8=68. 21
<13> JbII8ekRE = 40%2. 45=98
<14> ZEpEFAETEX ERE = 29. 5%3+4. 35%2=97. 2
<15> 10-3 = 5. 05%3. 2+3. 2%2. 9+8. 5*2=42. 44
16> LEEEER (GCLMXH]) = 86.4160+277. 8150+104. 7000+266. 2720+415. 1285+105. 3520+69. 1650+75. 4400
+46. 9800+38. 9800+55. 1000+68. 2100+98. 0000+97. 2000+42. 4400=1847. 1985
01140600100 . LSRR iRk
10 |- BRI 2. y&%@&ﬁﬁﬁﬂ@@é&:ﬂ%ﬁﬁ@z@ m2 1255. 68 14. 69| 18445.94
3. —;LB E I=]
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TREAR: A BT R A 1 XS T T H 95 gl k6 1l
FPig | TiH gk SR IS ESEOR i AL | TREECE | AR | A

1> BHHE2-88 = 4%2. 9+6. 1%6. 26+6. 1%2. 7T+5. 6%3. 6=86. 416

2> 2-87 = 2. 3%4+2%2. 3+2. 2%2. 9+1. 9%2. 7+7. 15%11. 25+10. 2%7. 15+13%3. 8+13%1. 85+2. 2%2. 5+11. 25%0. 9
5+5%0. 95%2=277. 815

<3> 2-89 = 5. 9*7.4+7. 6%7. 4+1. 6%3=104. 7

4> 2-91 = 3%2.55%2+2. 6%2. 1+1%3. 3%0. 9%20. 6+2*%2+9%6. 8+6. 6x7+7. 8%9. 35=266. 272

<5> 2-6 = (3.65+2.6)*3. 75+2+3. 45%3, 4+1. 95%3. 7+ (2. 8+1. 67) *2. 9+ (1. 95+3. 2) *2. 7+5. 07*1. 4+15. 50
9+25. 7%0. 9+3. 3%3. 5+3. 5%0. 9+3*1. 1+5. 3%1. 1+8. 4%6. 8+10%6. 85+8. 6%2. 9+12. 5%6. 9+12. 6%3. 1=415. 1285

<6> 16-1 = 5. 1%4+6%3. 4+1. 8%2. 1+2. 1*1. 6+ (4. 6+5. 8) *4. 5+1+3. 56%2. 7=105. 352
<T> gEHEER (GCLMXH]) = 86.4160+277. 8150+104. 7000+266. 2720+415. 1285+105. 3520=1255. 6835

11

01140600100 . L BRI e P KT o
3 £Z QIRIHRES 2. R R K A R AR | m2 323.94 14. 69| 4758. 68
3. AL - AT A £+ R

1> #RM2-88 = (4+6. 1+6. 1+5. 6)*0. 8=17. 44

<2> 2-87 = (2.3+1.9+10. 2+2. 2+5+2+7. 15+13+13+11. 25+2. 2) *0. 8=56. 16
<3> 2-89 = (5.9+1.6+7.6)*0.8=12. 08

<4> 2-91 = (6+5.5+6. 35+6. 35)*0. 5=12. 1

<5> 2-6 = ((3.65+2.6)+3.45+1. 95+4. 4+5. 07+25. 7+3. 5+5. 3+10+12. 5+12. 6+8. 6+8. 4+3. 3+15. 5) *0. 8=101
.216

<6> 16-1

(5. 1+1. 8+10. 4+3. 56+6+2. 1) %0. 8=23. 168
(6+5. 5+6. 35+6. 35) *0. 5=12. 1

<8> = (8.2+3.2+4)%0.5=7.7

<9> 2-3 = (6. 5+2. T+6.9) *0. 5=8. 05

<10> 2-2 = (2.2+6. 6+1. 4+4. 2)%0. 5=7. 2

<11> 1-5 = (1.6+10. 2+6. 8) *0. 5=9. 3

<12> 3-3 = (5+2.1+10. 2+1. 8+4. 7)*0. 5=11. 9

13> JBIISRKAH = 40%0. 5=20

14> FEEEREAEFXERE = (29. 5+4. 35) *0. 5=16. 925
<15> 10-3 = (5.5+3.2+8.5)%0.5=8.6

<7> 2-90

16> ZEBEEE R (GCLMXH]) = 17.4400+56. 1600+12. 0800+12. 1000+101. 2160+23. 1680+12. 1000+7. 7000+8. 05
00+7.2000+9. 3000+11. 9000+20. 0000+16. 9250+8. 6000=323. 939

7K

12

1. % N e S NG
?1040100700 Tk ol MR sk m3 2.16|  490.85| 1060. 24
3. W RIS . A MT. 5

1> = 12%1%0. 18=2. 16
2> HEEEEHR (GCLMXH]) = 2. 1600=2. 16
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TAREAFR: AT B P i v A 1 K B Tt 1t H %6 70 JLke T
P9 | BH gwmhd i 5 2R T H FHE R AL | TR | e M “hr
13 (09010101000 wesmu e prsty |1, foppss m2 1000 4.91  491.00
<> THHE = 100=100
14 |9°010300300 j;)%u JERT B98) |1 gy s 3 ) m2 1200  15.84] 1900.80

1> THEE

120=120
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